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g ITT T / SL.t Answer Type Questions

T73 ACA1 1 B 25 % o7g 3009 977 §1 qrrfaes fagn & qia faear §
A 9% 8 3 977 & I 31 HfFard 31 F 15 9o & IW 31 Ih4E 97

& fo0 2 aia fsiifa 21 15x2 =30
Question Nos, 1 to 25 are Short Answer Ty Questions. It is
compulsc:y to answer two questions f:o.n each of the five 3
sub ~cis of Social Science. Answer 1> jyuestions in all. Each v '
qu.~stion carries 2 marks. | 15x2=30 L

3fdeT™d / Ilistory
1. 3THEAM Aidldd &1 =7 e w2

Whyv was the Non-cooperation movement suspended ?

3fqeT / Hidmtory




:

qu.~stion carmes Z marks. | 1D X Z=0U B o

3fqeTd / Ilistory wE
1. 3THgEm e 71 & fem 2

Why was the Non-cooperation movement suspended ?

3faeTd / fistory - %

ITEEAM eI &1 =5 fe man 2

g

Why was the Non-cooperation movement suspended ?
yeftg TYie S| A v fea affeafadi F g 2
Under wiat circumstances was the Indian National

Con--uss established ?
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-What was the impact of the F

Ra-3N7 w1 ;o] aer R 7
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4/43

What is the mc:mim;‘n:l Indo-China ?
gl = fyg unl ) @ sq@far o ?

What was the utility of Ho Chi Minh route ?

vam fragg @ fifen savil w @ w2
i et World War on the

British industrics ? E | »5%



6.

8.

Uele T2 & 379 71 g & »
What do you unders:and by Rowlatt Act ?
& wifd & forll Q Freoni w0t ford

Write ar.v two causes of Russian Revolutizn.

| | mﬁ'ﬁ%r ﬁﬁl’ﬁ / Political Science
TR Tt saeRn € @ Rt o




8.

9.

Write ar.v two causes of Russian Revolution.

- AN fasm= / Political Ccience
ARG "4 =39 &l 2 w valgd|
State two features of India. Federal system.

AT foem | an= & afimmg @ 2

What do you mcan by social division ?

EUCUTY 'Y



s - - —-— e e ey Ay W W

10. ii%had H TSHIfdS Sl 6 7 Javadar @ 2

\_

Wha! s the need of political parties ir, o democracy ?

L1 TR R 2% any & kil @) @iy

Write the sources of ‘naseme of Municipal Corporation,

: AeivE / Economics

8/43



WV TTIC UTC ROUTCES O TS T IS o O TSI S OT TOTTTCTOTTS
arefyiA / Economics
12, ¥ Wgral Wg @ N9 71 WA § 2
\";flxal d> you understand by sclf-help group ?
13. i dfh el Y gionfia sl
Define core banking system.

14. Wifew woreft = 2 0



1S. e W I 1 aferia |

Define Cross Domestic Product.

'*ffi'ﬁ' / Geographv |
\
16 .oﬂﬁfﬁ%@nﬁm%mamﬁﬂzﬁ@ﬁml

Mention two factors for the localization of industries.



T‘ﬁﬁ‘ / Geographv |
\

16, qaﬁwﬁamn:nma;%qaw 51 33@ Hifiry
Mention two factors for thcjo'calizatibn of industries.

17. @it & frsrgamd T
- State the characteristics of minerals.

18. 33 fftn & v s 2 7

-
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19, vy gis if @
- H M vl @ @ v
What is Golden Quadiniateral Highway ?

20, wur FfY T i 2 2

What is meant by contour farming ?

21. Wﬂgﬂaﬁﬁmﬁﬂmmﬁﬁfeﬁam: bl 3@ FIfST



ZT. AT TCAAT BT WHITGW H0eT 90y 197 eT qr 7 -

3TYST WSy / Disester ‘Management
22, A % fAmrET e G FH FE & I TR

State the measures to reduce the devastating cffect of

Tsunami.

23. @ ¥ 11°@ FHRI H IZE B
2 AW A LIN/LE “ALIMWA viAL B ) prwer e === St O

4, v @ e forg B e el T R 2
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2a. v @ e & forg - & e e T R 2

What precautions ziould be taken in building

construction for protection against earthquake ?

13/

05, g WF HNHTE FEUT @ 39 1 §UIA @ ?

What 10 you understand by life saviug emergency

;ﬂd Wﬂu’ "y=t / Lq;\& Anawer Typo Quoutlons

W¥T WA 26 ¥ 33 v wdiw wvw &1 gAR @ fEl 4w @

L., S



d 39 dtg v / Loy Anawer Type Questlons

T WOH 26 @ 33 giu gadiT wvw &1 g @ fael 4 g @
7Y &1 wnfires g & an feal ¥ @ gRe / F 9 FIW A
Hard @1 vedw sy & forg 5 siw Praifia &1 4 x5=20

Questio': Nos. 26 to 33 are Long Ansuver Type quesrions.
Ans:cer any 49 questions. It is compui. ory to answer one
arestion from the four subjects ») Social Science. Each

question carries 5 marks. | 4x5=20

3faeT<T / History



Zfqe<T / History
26. WAFY Iaw T F FHO ) == HX

Discuss the causes of Civil Disobedience Movement.

27. € Hifd % yuma it 3= Fl

Liszuss the impact of the Russian R.valution.

mﬁﬁr fasm= / Politici Science

28, fagm v T s § wfers B i w = w5




’AVIEA / Tconomics
30. I & HI w fwr @ <A1y
Explain the functions of moncy in detail.

Uﬁﬂmmaﬁamlmtﬁmaﬁmﬁrmzﬁﬁ
Rl L

State thc meaning of national i income. Discuss the main & ﬁq’"ﬁ

| 11ethods of its calculation.

e
%
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WA / Genziaphy SR



T

State thc meaning of national i Income, Discuss the main

‘nethods of its calculation.

Tﬁﬁ / Genxyaphy
32. gi@ wifd @0 R 2 YR N | 35w |0 99E 981 2

What is Green Revolution ? What was its impact on

Indian agriculture ?
33. @il i mom W@ waw A fadww R

Discucs the importance and conservaticr of minerals.




1. TGN 3figier T wifird fohar mar?
1922 ® IRI-<RT hig ga, foraw fgaeh
HIg 9 gfeid U H 37T MR ehg
gfcrEentHal ent AR STeTl| iefisit srfgar
ch gl THYh o, 3HfIy I 3rigie
el IR & e

2. YRAIG TSI R0 chl TITYAT fohd
gRfefaal d g3?

farfesr :mae & et Hifaat @
A et 8T ATIIAfST HRATT A
TS <A1 9 ot At

WRA! bl Yeh IS HT TR Tehvole i
chl 3TTETehdT Al |

= 1885 H U.3Ml. &H <h! Ugel IR HWRAIT
TS hiT <hl RITTAT g3

8. YR THtg gy &t & faiudan
chg 3R ISyl oh g Al 1 WE
SR (316 245-246)|

Sfae gatw g 3R gHl (chg T o)
3qch I B




8. YR el egawT &t & faiudm
hg TR IS4l & o Al 1 TWE
SICaRT (TG 245-246)]

Gfae aiea g 3R gl (ehg g ITY)
3k I B

0. ISR fIvTSI O 31T -7 ST
2?2

STe HTST STTfa, |TST, o, foir, & ar
3fdfen fRATT o TR U 3TTIT- 3T
gHgl H s SI1dT 8, dt 39 HHTfoich

TIYTST Shed 8|

12. T GEIIdT 9Hg 9 3TY T GHd
a?

OrHioT T, Aty Afgay, e sid
9Hg SHTdl gl

e fAgiid 99d &hd & SiiR STexd
s+ R MUl GgIdT 9 0T od & |

= 3T gl W Ye1adT T (SHG) Ted
gl




14, Hifeeh YoTTelt o 872
fehddt de1 R HaT T Hafdd egee, fad
A Bldl 8, Hifech T Shgetlal! o

17. @St <! faiwdm

OTchideh ¥U & UTg ST dlell HchTell-h
XU | [Afga sarafae dxaer sk Hifde
T Igedt <t uudl | difta amEn A
JqeTe |

18. Sig fafaedar @ o sifuum 8?2
foreft &7 & uTu ST gt utY, SR,
gersitg Sfe Sitat <t fafderar ot Sig
fafaerar ed &1

22. GATH oh fAIRIARI UHTd R i &

U™

adg &=t & URfHe Aara-t JoTret!
faeriad AT ASTEd 9E d1Y 3R
JEIRIYUT| ST <hl RIS fAehrdt & iy
ufreron|




23. g4 o faf99 gahR

HHT @1 — guf &l Rt

iV @I — Bl & folg ggied 74 1
g

STela=T-eh @1 — AT, Siiell, =Tel ar
X Y ST
grHTSIcR-31fefeh &1 — UT-t <hl hHT 9
3rfen g mHTSIeh Yehe ITH BT

26. Gfa=Ta 13T TGl ch hIR0T
Gia=g el Higiel= o HE&I hRUT gui
RIS <hl HT, FHh Rl 3R 3
AR fefesr Aifaal & ufa iy, ok
fafesr emas &Y At @ Iaa= e
3R TSI AT & | 9I8a- ShHIRE
& ufaferar ok sifffAas weg &y A
! SRR ST ot 39 sfictad & forw

Teh HgaqUl ISRk U7

IR HRUT

QUi RIS chl ANT: MR AR hidd =
fegeR 1929 # AR Sifdae # gui
TERTST hl TUAT 1&g Tifvra fohar 2T
THeh ST Al faRie: TMiEisit & 97 TR
ffesr TR o TanIfAepR 3R 3rcfdeh
o ol fefesr ST & AR Wy &
w0 ¥ |

EHARTSY Hifaar: STl gRT o] &6t 13

SHAhT HiadTl 3R IS fdeh Tad=IdT <l
31T AT



28. fagR darad! ST g # Afgarsf
chl H[HehT IR Tl

[SgR darad! ST a1 | Afgetrsiy
AR BT I] h T AdTd § Sch G
0TI d R R fht SIH a1t ahre™, 3ch
fIq o AT 3R Ik TRAThehUT o
TYTd UR dTd hAT. HATgdT31t et 50%
IREUT 34 I fagR | SAlchd ™ HoTed ga
& 3T UTHIT faentd g grHTiSTeh <O ot
Jerar AT g, ioad daradl & 31fdh
uRefRiar 3fR Sareee! orre &.




31. IS I &l Y FdT8T | SHh! U]
<hl U fatfert <hl ==t |

TSI 37T ohT 1Y g fohddl 31 7 Uah fa=iia
Iy ch SR IATied ot ifad aegar
3R T3 T el Hifgeh Hed AT fafA=
3G oh hRehl gRI A et |
ST I <hl TUHT 7T &4 4 dIH
faferat @ <t STt &: S fafyr
(Product Method), 31T faf¥r (Income
Method), 3iR =ag faf&r (Expenditure
Method)|

IV 3T &l 1Y

TSR 37T Teh ST & 9AY 3MTTAeh Ug™
ohl GRITl 81 T8 Uch fa<ilg I (SMHIR WX
Uch 91eT) H &1 H g aTelt gt arfefen
nﬁrﬁfﬁu’raa‘rtrﬁvﬂﬂa’rcﬁélwaﬂ
H, I8 98 Dol AT & ST I a7 oh AN
fehTaT, sTTST SR &1y QA 8ld 8




33. @S &t Hgdr Ug TReTuT <hl fad=mT
he |

gfet Y srfegaw & fog

ched HT USTH ohed &. gledifch, T 9ifdd,
TR-TdIeholg 991ed 8, Siqah [Aafor 4
ARGl Tl o17Td &, SHfelT UgiaRur &R,
TN 3R Hidsy &l et & §=+ o forg
Q-T<IshUl, STUIRAE H AT, HAT STINT
3R dehfcteh IRl ch ITIRT St
IR&7uT fafIal <hl SMTasdehdT &.




